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e Choosing the correct word:
:3.:_-).1 24
R 19 |1- Developed 2- assess 3- terms 4- thesis| |
PAEIN RTINS 5- certain 6- likely 7- feeding 8- news line
9- coverage 10- echo 11- hence 12- MC
1425320 e Fill in the spaces:
AL 29 |1-C 2-A 3-D 4- A s-p| 11
bzl glrs 6- A 7-B 8-D 9-C 10- D
:Ql 10 e Choose the correct answer:
R 2 Il
ol S0 glimss 1-C 2-B 3-C 4-D 5-A
e Column A & Column B:
denl6 | vV
A2 | ] —mee- >2 2 - >4 3 >8 4 - >3
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A e 51 6 -9 7 e 8 oene>6
e Abbreviations:
- NSC: National Security Council
1d2ys 15 e - NATO: North Atlantic Treaty Organization
e IS A s - NYT: New York Times
- MC: Manufacturing Consent
- CIA: Central Intelligence Agency
e The five variables for US interventionist policy:
ok 10 16 1- The clarity of the case for intervention on humanitarian grounds. VI
Jole JSI ol ya 2- The availability of domestic support. 3- The CNN effect.
4- The national interests involved. 5- The Chances of success.
e Pres helps set the boundaries:
Gzye S 35 Vil
It can creates a general mood ....... Stereotypes are often fit.
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